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Notes : (i) This question paper has two sections ‘A’ and ‘B’. Every section has four
questions, attempt any five questions. At least two questions should be
attempted from every section.

(ii) All questions carry equal marks.
(iii) All the part of same question must be answered together.

(iv) Nor — programmable calculators are allowed.
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What are the measures of central tendency ? Find the simple and weighted
arithmetic mean of the first n natural numbers, the weights being the corresponding
numbers.

(1)  What is an ogive curve ? What are its uses ?
(i1)  State types of classification of data.
(iii) What is coefficient of variation ? What is its importance ?

(iv) If mode is more than mean by 4.5 and variance is 121, find coefficient of
skewness.
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Give classical and statistical definitions of probability.

A machine part is produced by three factories A, B and C. Their proportional
production is 25, 35 and 40 percent, respectively. Also, the percentage defectives
manufactured by three factories are 5, 4 and 3, respectively. A part is taken at
random and is found to be defective. Find the probability that the selected part
belongs to factory B.

(i)  If the probability density function of a variable X is :

fix) = cx,1<x<2
= ¢ ,2<x<3
= (0 , otherwise

then find the value of C.

X
(ii) State the relation between M (t) and Myy(t) where U = T

4 .
(ili) The mean'and variance of a binomial distribution are 4 and 3 Find P(X =2).

(iv) Obtain the mean of an exponential distribution.
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